( 4 )

(c) Recapitulation theory / *F<RE"T ©§

{(d) Biomass / I TX

(e) Ecosystem / 33’ 5(8N

() Biosphere / QRN

(g) Fossorial adaptation_ / 5 _ReEe AP

(h) Cenozoic era / 7’333 o

6. Write short notes on any three the following :

Ox3=15

(a) Induced mutation
oIR8 Tesifad

(b) Speciation
ARSI

(c) Nitrogen cycle
CIEVRA-D AT

(d) Migration of bird
5I2S AIE
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GROUP—A

1. Answer the following : 1 x7=7
oeTe frcaTee Ty

(a) What 1s missing link?
CZCAIET 19 6 2

(b) Which period of geological timescale is -
known as ‘age of fishes?

OGS IR (PN FOR ‘99§ o e
(P 23 7

(c) What are coacervates?

(FIRABIRCSH 2
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( 2 )

(d) What is analogous organ?

FRRfed Se FE (I ?

(e} What is sibling species?
foafer orerts 2

() What is bipedal locomotion?
from Setel 5 2 '

(g) Which animal group is called as ‘glorified
reptile’™?

@Ry AAaee ‘A’REEe Apye’ I @
%% 7

( 3 )

Or / ST

Describe the Stanely Miller’s experiment and
explain how the experiment proves the
biochemical theory of origin of life. S5+5

Bl Res @R 3 f W @3 iR R
Ceig - weR o= ey, SrE 47 |

. Discuss the Lamarckian concept of evolution

in the light of modern biclogy. 10

(TR FNRISTT A HYwE SIEEICE RGNS
TR <pgT |

Or / Y]

2. What is the modern concept of origin of life? What is ecological succession? Describe its

Enumerate its essential features. 3+7 type and general process. _ 347
&g Teoifer Sy qRen & 2 TR ArmeaE ¢ T ART S e T qo1 7 TR 2R W e
Or / W[ offFa QTR <4 |
Enumerate the energy resources in the
atmosphere of primitive earth which led to _ GROUP—DB
the synthesis of various organic materials. 10
(G w9 FREAFAS | e gs IREeSE *e3 5. Write short notes on any four of the
@QWM A 3T 97 | | following : 2%x4=8
' ' wers iR R @ie oifRbR 55 (o1t forat

3. What is biotic community? Enumerate the

basic features of the biotic community. 2+8 (a) Neo-Darwinism / s’ wREHfey
kS (b) Acid rain / <o 399

fer<t |
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